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* TV TT BT & FH TeT9H 7 FRT T 16 T
797 27 81
Please make sure that the printed pages in this
question paper are 16 in number and it contains 27

questions.

» 79797 7 qlfe7 & @ G [T T8 FT T_Y 79 G #
5 FC-Gieasl & JET-99 97 [7d)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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° FYT J9T FH FAV [0GT J@ BT H W, JoT B HHE
ST 1G]

Before beginning to answer a question, its Serial

Number must be written.
o FTT-YRaHl & & F @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAARTT FHF o de T Al o
SFEATA & [rd ST fr@r Fav 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o ghereff 1T T To FIT-UF UT Sa9T @)

Candidates must write their Roll Number on the

question paper.

° ZYF g9l % GV 7 @ @ 98 GARET & 7 [ FITTH
g7 7 78 & Y # Iy 59 a9 F #HE A @@
@B TE AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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(3) 4205/(Set : D)
G & -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) aFeGTs 97 % el [AweT frd)
Write the correct option in objective type
questions.

(iii) G FTT qIT F7 F STaE [T T ATET 81

Internal choice has been provided in long
answer type questions.

(iv) F9% J97 & ol 3G% T@HT G99 77 &

Marks of each question are indicated against it.

gug —
SECTION - A [ Marks : 20
(A fsT)
(Physics)
1. J0M ghieg qo1 Refed gEd & 9@ #R9 &, JH
& 1
(A)  TEEH
(B) STuddH
(C) foaa=
(D) aIvi
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The main reason behind the advanced sunrise

and delayed sunsetis ................ of light.
(A) Reflection

(B) Refraction

(C) Deviation

(D) Scattering

frafafad & 9§ 29 JgEET ot W H ISR &
g7 1

(A) T

(B) e}
(C) HIT St
(D) T

Which of the following is not an example of bio-

mass energy source ?
(A) Wood

(B) Gobar gas

(C) Nuclear energy

(D) Coal
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3. TS Ui ad Sebist &l T bl 9l | fqwe &Y adl
Bl R 3 at T # A § g 1

The prism split the incident white light into a
band of colours. Write these colours name in

Sequence.

4. TEH AR F O 5T dRA WA d@ar 2?1

On what factors, the resistance of a conductor

depends ?

5. Tl & of/est °fid H & YT BN © ° 2

What are the properties of a good source of

energy ?

6. 2Q,3QT 6Q & UagR H FFE YER FIAR
fopar ST 6 G B g JRg 1Q B S 7 2

How can three resistors of resistances 2 Q, 3 Q
and 6 Q be connected to give a total resistance

of1Q7?
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7. AN QA B T=H & 3 A9 9ER & R & fawg J

o rEe G A 2

F IR (Reduce), J: T (Recycle) A T:
SYANT (Reuse)l HH IWN & &R & o B

You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reduce in

detail.

8. (a) I3 I& AW &YV % Ikl d& (C) T Bihd F
% A Red 31 39 a%g & S @ R, a=a
a7 Yl @ == TEY 2
An object is situated between the centre of
curvature (C) and focus (F) of a concave
mirror. Draw a ray diagram of the position,

size and nature of image.
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(7) 4205/(Set : D)
(b) I @ H BHA U A BT (STED &
—2.0D 8 ¥E 59 YR & qF & ? 2

Find the focal length of a lens of power

—2.0 D. What type of lens is this ?

9. TMilhe ARG Tiel FI el faga S & ol s
WWWWI dcﬁ@ﬁﬂﬁao%qﬁﬁ
o g 7 6
Explain the underlying principle and working of
an electric generator by drawing a labelled

diagram. What are the advantages of ac over

dc ?
ST
OR
() gHWA (Earthing) § 1 sfmmE 8 ¢ fagd
SUHION BT EUlhT FT Al ST & 7 2

What do you mean by earthing ? Why
should the electrical appliances be

earthed ?
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(b) uRferr & omueRr w SIRWE B ? uh OGR!
4 yied fOEd 4W % RO S~ guhid & Rl
ARG Iy aRATferRr & IwA o fofam 4

What do you mean by a solenoid ? Draw the
magnetic field lines around a current
carrying solenoid. Write down the use of a

solenoid.
gue - §
SECTION - B [ Marks : 19
(e )
(Chemistry)

10. =1 TamEte oifufhr & H9-a1 AieRs oERd &
W2 ? 1

ZnO+ C = Zn+CO

Which reactant is reduced in the following

chemical reaction ?

ZnO+ C - Zn+CO
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11. 9% 9 O @9 A, B @1 C &, RfF& pH & 79
FAT: 3, 7T 9 B IWd H @ PG e =i
B ? 1
You have three solutions A, B and C, whose pH

value is 3, 7 and 9 respectively. Out of above

solutions, which solution is acidic ?

12. T M, MCl; 3 a0 UF FgS S ol & arel
T g8 qwd M 9Ed: [ T & g erm ¢ 1
(A) S (B) Al
(C) Na (D) Mg
Element M forms a chloride with formula MCl;.

Element M would be most likely in the same

group of periodic table as :

(A) Si (B) Al
(C) Na (D) Mg
4205/(Set : D) P.T.O.
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13. R (srages) sifframstt & oM @1 @95 § ? @@
SR (TS THIBTeT) AR 2
What do you mean by decomposition reactions ?

Give one example (chemical equation).

14. FAOR-GX UhaT o1 St & ? 39 Uhdl H TEENS
g STy 2

What is Chlor-alkali process ? Give chemical

reaction for the process.

15. g offad aRel & e § qRft § &l R S W
AT W3S 68 SR URafid skl & ¢ ®RY [rag 2

In modern periodic table, how does the atomic
size vary in a period on moving from left to

right ? Write its reason.

16. (i) goHslicl o1 SfFEEs & S § i | F& 8
g ? g% e Ay 2

What happens when water soluble metal
oxides are dissolved in water ? Give one

example.
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17. (i)

(i)
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(11) 4205/(Set : D)
NS ARl H TR Se i Bl § ¢ 2

Why do ionic compounds have high melting

point ?

o7 ARt &1 AT FRT - 1x3=3
(a) CHy-C=CH
(b) CH;-OH

0]
]
() CH;-C—CH,

Write the names of following compounds :
(@@ CH3-C=CH
(b) CH;-OH

O
I
() CHz-C—CH,

U= (CsHypp) & Ot EXemTed qHEadl & =
EASIY 3

Draw all the structural isomers of pentane
(CsHyp) -
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7T
OR
frer ufharelt @& wEmte fie GfRa aoiF
HifoTT 2x3=6

Explain the following processes with help of
chemical reactions :

() e
Esterification
(i) @B
Saponification
(iif) BTFZIOMIBTT
Hydrogenation
s -9
SECTION -C [ Marks : 21
(cftr fo)

(Life Science)

18. I Sig I SAfed FHraieh YTl B G TG Yarey o

o Y e H fem 39§ 1
(A) IUED (B) STUHNIH
(C) SIehTEr (D) wiERN
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The organisms which break down complex
organic substances into simple inorganic

substances and mix them in the soil :
(A) Producers (B) Decomposers

(C) Herbivores (D) Carnivores

19. @ FREE B HE-A AR FHES G I B

SIS 3l & 7 1
(A) IR B

(B) i

(C) direpTer

(D) bt a1 sifem far

Which part of neuron acquires information from
sensory organs ?

(A) Cell body

(B) Dendrite

(C) Axon

(D) Nerve ending
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20. fFdl W qias & S H# Yae ded e fRsmett #
AT ? 1

In how many directions the energy flows in any

ecosystem ?

21. TEH B FEd X I M1 qAT STEN F 99T ARy
& TIOT 2| 3ED [U BN-T1 2 STt ® ? 1

Growth of facial hair and deepening of voice are
symptoms of puberty in boys. Which hormone is

responsible for it ?

22, U # SHE & -8 9N E WA AREH e 7
Jae HH 8 ¢ SHEX & I AT B AH AR 1

In a flower, pollen tube enters through pistil into
ovule. Name that part of pistil.

23. fE@ved qu sgaEved d w0 SR B ? @ dfed
AT 2

What is difference between binary fission and

multiple fission ? Explain with example.

24. o mifes giRmEr SR-E 8 ? S99 @ §
N qEd © 7 2

What are different contraceptive methods ? How

are they important for reproductive health ?
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25. AR T AETES] H W B © ¢ 2

How are brain and spinal cord protected in

human body ?
26. TF A0 G a GG (BB) & HHCT 6 The Gl A
A (bb) | HEHM 4

A blue coloured flowering plant (BB) was crossed

with white coloured flowering plant (bb).
(i) 5o Gafr & Gl & T F B 7

What will be the colour of flowers in F;

generation ?
(i) OO Gl H WO BN WIS Hhe Gl &
gicierd febaer &R ?

What percentage of white flowered plants
will be in F, generation through self-

pollination of F; plants.
|l e STy

Explain with diagram.

27. WU QU F1 & ? A F GHT GRATT H THH dl
AT FifoTq| 6

What is autotrophic nutrition ? Explain the

process of photosynthesis in plants.
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7T

OR
foTHat qiwer @ B 7 ordier § 9Nl & =Xl @ gt
Ui BT 6

What is heterotrophic nutrition ? Explain the

process of nutrition in Amoeba with diagram.
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